I have 5 I have 14 I have 26 I have 31
Who has Who has Who has Who has
20 minus 6 27 take away 11 34 subtract 3 = 53 minus 10
I have 43 I have 50 I have 13 I have 17
Who has Who has Who has Who has
55 take away 5 | 17 count back 4 | 3 |ess than 20 7 minus 7
I have O [ have 20 I have 8 I have 32
Who has Who has Who has Who has
30 take away 10 11 count back 3| 35 minus 3 40 take away 30
I have 10 I have 1 I have 45 I have 22
Who has Who has Who has Who has
8 take away / 50 subtract 5 30 minus 8 17 count back 6




I have 11 I have 28 I have 15 I have 38
Who has Who has Who has Who has
30 take away 2 = 19 subtract 4 39 minus 1 2 less than 51
I have 49 I have 4 I have 16 I have /
Who has Who has Who has Who has
10 take away 6 20 minus 4 14 take away 7 = 47 subtract 7/
I have 40 [ have 19 I have 30 I have 33
Who has Who has Who has Who has
20 minus 1 4ltake away 11 1 36 sybtract 3 25 minus 4
I have 21 [ have 2 I have 3 [ have 41
Who has Who has Who has Who has

6 count back 4

5 take away 2

45 count back 4

14 subtract 9




